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  1تمرين:  

998 995 998 5a    564 99 564c   

556 755 556 655b    123123 97 369369d   

  2تمرين: x

 8 3A x    2 7 7 7D x x   

 11 1B x    6 3 1 13 2 5E x x   

 5 3 2C x    5 5 2 4 11 3F x x   

  3تمرين: 

x

4 28A x 45 18D x 

19 19B x 33 44E x 

15 35C x 25 75F x 

 

  4تمرين : 

    6 3 2 7A x x     x   

18 32A x  

2A21x  

3A

4x112A

 

  5تمرين: 

 3 5 4 13 9A x x   x

28 21A x 

101x 

301A 

A 

 أساسي:  المكتسبات 

  ث   :المرجع 

  الثبات في الرياضيات     على الموقع   :الاصلاح   
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 رين تم: 

553545125

316 55000200020000

(CO5cmO

5cm5cm5cm

 
2

0 23 310081144

 

 

https://sites.google.com/site/lapotheme/


 رين تم: 

20091a  
2

0 22 3b  011c 

410d 25 2 3e   
3 2 6 36 5 1 6f    

25 49x  
3 4 32 10 5y   427 3z  

62 2t   
2

3 32 25u   
2

310 10v  

 

 رينتم: 

9 11 72 4 8a   7 7 1112 5 10c   

 
10

2 53 16b  
34 15 172 6 9d   

 

 رين تم: 

7 117 7 7a    
7

5 427 3d  13 20 337 7 3g   

 
4

5 133 3b  5 123 123100 5 2e   8 11 4316 2 6h   

13 1313 2c   
10

4 40 1113 5 15f   6 7 1627 9 25i   

 رين تم:

ABC8BC cm65ABC  40ACB  BAC

HA BCBAHCAH

 AxBAC BCM

BAMHAMAMBAMC

 BC // AH

 CB3r cm

C

 C AH

 أساسي : المكتسبات 

  ث   :المرجع 

  الثبات في الرياضيات     على الموقع   :الاصلاح   
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